H & 0l & AHS B Ml A

20233 = =04k XIok==2te| SE2/H &X

2H: HED
3 XKoot Al22 MAS 2t
ol XIBlamel Al (XIBlaRel SHa) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rafain; 1,158,587 1,161,172 A2,585
Kot A2 MIAHA 2tel 70,013 1,161,172 A1,091,159
Xigt=2tel At (XIot=2tel SE3IA) 70,013 1,161,172 A1,001,159
Aot=2tel & Klot=0lE8R832 28 58,428 39,248 19,180
201 fer= 3| 37,428 39,248 1,820
01 At 2|l 5,7% 6,216 A420
OXlot=0IESFE=s FUES 3,492
- JAN, S5F EX
82,0003 »62 A 42
- TgH &Y 200,000& %154 3,000
Osgtl(XIst=2te] ==22)
8,000 x3+8L « 12 2,304
2 S22l 31,632 33,032 A1,400
O382= € HA 2,232
- Not==0lEFEs *8 ¥€5=
380&*30024 123 1,368
- Kot 2X2=2 Sdleld HIS
6,000 1224 * 128 864
OAlZ EHIs Xl 29,400
- XNots= 222522 FX|2c
1,650,000 * 1290 &~ 19,800
- Aot EX252 AIE3H| +=cl
4,800,000 *20H 2= 9,600
207 ARl 21,000 0 21,000
01 S| 21,000 0 21,000
OXIGt= OIZAEBZAH SR & sE22E)
21,000,000 21,000
OflbIBI (XIGt=2te| SE 3] H) 11,585 1,121,924 A1,110,339
801 OflHIH 11,585 1,121,924 A1,110,339
01 EHolbI8l 11,585 1,121,924 21,110,339
Ooullblbl 11,585,000& 11,585
Weegs(Hen) 1,088,574 0 1,088,574
WRHeHXIE(XIGt=2t2] SE3IH) 1,088,574 0 1,088,574
HEHHXIE 1,088,574 0 1,088,574
04 s = 1,088,574 0 1,088,574
01 OIEt=2 1,088,574 0 1,088,574
OsEgMddg==s s
1,088,574,000& 1,088,574




